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X219 said; according to »'' a person errs slightly less than two hours

OVERVIEW
X217 expands the margin of error according to (both >"7 and) n"9 (respectively).
moon argues that while this explains the reason why according to n" they are
believed in the case of 21 '2; however the same logic should dictate that they be
believed even by ' 'a.
*

mooIn asks:

— NP0 IMTY INNN /N DN /NI /)2 99IN 1NN 19 ON 9INRN ON)
And if you will say; if this is so, that a person errs (up to) slightly less than two
hours, then if one says it occurred in the third hour and one says in the fifth,

why is their testimony nullified according to n" -
— 2mym 1992 NTIVT N2

Let us say that the incident occurred in the fourth hour and neither of them is erring
more than 17w»n 707 MYY 2.

mBoDIN answers:
— DNV MYVN MHNY PRT N2 9207 99D YN

And one can say; that X219 maintains that we cannot ascribe the error to both

witnesses. It is highly unlikely that both witnesses erred. It is more likely that only one of them
erred.’

mooin asks an additional question:
— NP0 IMTY INNIN /N2 N /N /X3 9DIN 1NN MYPNY ¥ N

However one can ask; when one says '32 and the other says 'n2, why is their
testimony nullified -

! Each one erred approximately more than an hour and less then 7w 701 mMyw '3 (maximum). The one that said '3,
even if he meant 3 nonn2 there is less than a two hour error, and the same with the 7v who said wan even if he meant
wnn 02 it is also less than 177wn "on nMyw 2.

% In the case of ' 'a their testimony is accepted, because we assume that an honest error in judgment was made.
Even though we have no way of proving that it is an honest error, we nevertheless assume so, since the witnesses
seem to corroborate each other in all other aspects [and they have a m7w> npin]. The same should hold true by '™ '3
that we should assume that the incident took place "7 7vw2a [for we have no way to prove that it did not occur 7yw2
"7], and both 2>7y made an honest error in judgment.

? Therefore it possible than the 7v who said 32 was correct and he meant s nonina and the 7v who said '72 is off by
more than 17w» 701 Myw 2 (or vice versa).
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— 73 9992 /32 MINRPT OND NIYYT 2100 )12 NPT IN
For if we would scrutinize these witnesses perhaps the one who claimed '»2

meant at the end of '3 and the one who said 72 meant sometime during 77 (before ' 710),
which is less than yWwn 700 myw 2. The 7Y should be crossed examined (again) and if the
discrepancy is less than ywn 01 Myw 2 we should uphold their testimony and administer the
appropriate punishment.

N1B0IN answers:
119 19972 RY 1TY 0P PPNNYT UMY Y

And one can say; we do not scrutinize the witnesses in order to uphold their

testimony and be strict with the defendant. We therefore assume that (at best) both of them
are referring to either 7¥wa nonn or 121 Aywa M0 (or '3 YW nnn and 71 Avw 0) and there is a
discrepancy of more than 17wn 707 Myw 2

SUMMARY

When two witnesses testify different times we assume that one is exact and the
other errs; we do not assume that they are both in error. We do not attempt to
reconcile the apparent contradictory testimony of 27V (by scrutinizing the
witnesses) to be stringent with the defendant.

THINKING IT OVER

1. Why does not m»01n ask a similar question on the 7"X of »2aX according to >
that a person is 7wn 7Yw 7yw? Why does °"1 merely state they are believed if it
was ‘M 32, they should be believed even if they said 'm '2? The incident happened
in the beginning of '7 7yw, the one who said '2 meant '2 7102 and the one who said
' meant 7 n%1n2 and both are ywm AYw 0L

2. Is the second answer of MooIn (that 1732 13°p72 XY An79), an (additional) answer
for the first question as well?°

3. Why, on one hand, m501n assumes that we are not 2°1112 P73, and on the other
hand we are [R1n7] 2°won contradictory 2>7v (when 121 32 7711 '22 91X 777) because

* The scrutiny is used for the purpose of discrediting the witnesses; not upholding them in a manner which will
result in meting out punishment for the defendant. The 77N writes (71"2-75 ,7% [*Yon] 12712) that 2°Xm 7797 WOWN
77y that we are to judge in a lenient (not a stringent) manner. See X'"2w"7 N1BOIN.

> See [1x7] X"w1mn and 19y,

6 See 2 77y w" KT NDOMN.
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we assume there is an honest mistake? Why are we X71117% nvva 17720 and not P71
in their testimony x1mn5?’

7 See anma K.
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